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Integralrechnung
Stammfunktionen

Lösungswege 8

Aufgabe 42

Berechne durch Substitution.

a) ∫ (3 x − 1 )8 dx

b) ∫ (2 − 5 x )19 dx

c) ∫ (3 − x )5 dx

d) ∫ (4 x − 8)22
dx

e) ∫ (1 − 12 x )23dx

f) ∫ 1
2 x − 4

dx =∫ (2 x − 4)−1dx

g) ∫ 1
1 − 4 x

dx =∫(1 − 4 x )−1dx

h) ∫ 1
3 − 5 x

dx =∫ (3 − 5 x )−1dx

i) ∫ 1

(2 x − 3 )12
dx =∫ (2 x − 3)−12dx
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Lösungen:

Ad a)

Substitution: u= 3 x − 1 ⇒ u' = du
dx

= 3 ⇒ dx =− 1
3
du

Einsetzen: ∫ (3 x − 1)8 dx=∫u8⋅ 1
3
du= 1

3∫u
8du = u9

27
+ c =−

(3 x− 1)9

27
+ c

Ad b)

Substitution: u= 2 − 5 x ⇒ u' = du
dx

=−5 ⇒ dx =−1
5
du

Einsetzen: ∫ (2 − 5 x )19 dx=−∫u19⋅ 1
5
du =− 1

5∫u
19du=− u20

100
+ c =−

(2 − 5 x )20

100
+ c

Ad c)

Substitution: u= 3 − x ⇒ u' = du
dx

=−1 ⇒ dx =−du

Einsetzen: ∫ (3 − x )5dx =−∫ u5 du =−∫u5du =− u
6

6
+ c =−

(3 − x )6

6
+ c

Ad d)

Substitution: u= 4 x − 8 ⇒ u ' = du
dx

= 4 ⇒ dx = 1
4
du

Einsetzen: ∫ (4 − x)22dx =∫ u22⋅ 1
4
du = 1

4∫u
22du = u23

92
+ c =

(4 x − 8)23

92
+ c

Seite 2 von 4



Mathe – alles was zählt
Integralrechnung
Stammfunktionen

Lösungswege 8

Ad e)

Substitution: u= 1 − 12 x ⇒ u ' = du
dx

=−12 ⇒ dx =− 1
12
du

Einsetzen:

∫ (1 − 12 x )23dx =−∫u23⋅ 1
12
du =− 1

12∫u
23du=− u24

288
+ c =−

(1 − 12 x )24

288
+ c

Ad f)

Substitution: u= 2 x − 4 ⇒ u' = du
dx

= 2 ⇒ dx = 1
2
du

Einsetzen:

∫ (2 x − 4 )−1dx = ∫u−1⋅1
2
du =

= 1
2 ∫u

−1du =

= 1
2

⋅ ln|u|+ c1 =

= 1
2

⋅ ln|2 x − 4|+ c1

= 1
2

⋅ ln (2⋅|x − 2|) + c1

= 1
2

⋅ ln|x − 2|+ ln 2 + c1⏟
= c

= 1
2

⋅ln|x − 2|+ c

Ad g)

Substitution: u= 1 − 4 x ⇒ u' = du
dx

=−4 ⇒ dx =− 1
4
du

Einsetzen:
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∫ (1 − 4 x)−1dx = −∫u−1⋅1
4
du =

= −1
4 ∫u−1du =

= −1
4

⋅ ln|u|+ c1 =

= −1
4

⋅ln|1 − 4 x|+ c1

Ad h)

Substitution: u= 3 − 5 x ⇒ u' = du
dx

=−5 ⇒ dx =−1
5
du

Einsetzen:

∫ (3 − 5 x )−1dx = −∫u−1⋅1
4
du =

= −1
5 ∫u−1 du =

= −1
5

⋅ln|u|+ c1 =

= −1
5

⋅ ln|3 − 5 x|+ c1

Ad i)

Substitution: u= 2 x − 3 ⇒ u' = du
dx

= 2 ⇒ dx = 1
2
du

Einsetzen:

∫ (2 x − 3 )−12dx = ∫u−12⋅1
4
du =

= 1
2 ∫u

−12du =

= − 1
22

⋅u−11 + c1 =

= − 1

22⋅ (2 x − 3)11 + c1
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